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The question paper contains three Sections.
I-T § 9 =E ¥
Section—-A (Marks : 172 x 10 = 15)

Answer all fen questions (Answer limit 50 words). Each question carries
1'% marks.

(TUE—3) (3® : 1'% x 10 = 15)
Tt 9 Y & I ST (- 50 I=) | GAEk G 1Y% 3F H B
Section-B (Marks : 10 x 3 = 30)

Answer any three questions out of four questions (Answer limit 250 words).
Each question carries 10 marks.

(@ue-=) (3 : 10 x 3 = 30)
=R 9w H # Rl R el & s ST (SW-EE 250 ) | w99 10
3% H T

Section—C (Marks : 15 x 2 = 30)
Answer any two questions out of three questions (Answer limit 500 words).
Each question carries 15 marks.

(Tus—a) (3k : 15 x 2 = 30)
?ﬁ?gﬁ%ﬁﬁWa‘ruﬁeﬁwﬁm (- 500 ¥5) | T4 A 15
Hh ol Tl
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Section—A
(@ues-3)

. (@@ Elasticity of demand is generally high during the long period compared to
the short period. Why ?

T H A STHAR TR 3TCIHE hi gorl | Shra | e et g1 /i 2

(ii)) Define Consumption Function.
IUHIRT e 1 IR ST
(ii1) Can a demand curve slope upward to the right under any condition ?
F A o fREr off feufd § IR # SR TR SR sAH #R whar § 2
(iv) What do you mean by ‘Distribution’ as central problem of an economy ?
sefegewe ® wRa GHEst & dad fawo’ ¥ oMy Fn wHe § 2
(v)  What is the relevance of stages of production to the producer ?
IEH & T ScIEA & =l i YRRl = ® 2
(vi) Define TVC.
TVC =1 aRefea &S
(vii) What do you mean by Dumping ?
< 9 oy F wwe ¥ ?
(viii) What is Economic Rent ?
AR I = T 2
(ix) Define Price Forecasting.
Hed qHE 1 AR it

(x) What do you mean by ‘Planning Curve’ ?

‘freieH o’ ¥ T @ 9Hsa © 2
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Section-B
('@'UE'—EI')

2. “Managerial Economics bridges the gap between economic theory and business

practice.” Explain with examples.

R ELCaRc DNt G EC o re O L | | R E R e e e | A Aol I
LN I Hed § TS |
3. Write short notes on the following :
(@)  Arc Elasticity and Point Elasticity
(b)  Exceptions of Law of demand
freafafea w d@fya femfrt fafew
(1) =M d= @ fag e

(&) #m &% 99 & uer

4. A firm has purchased a plant to manufacture a new product. Cost data for the

plant is given below :
Estimated Annual Sales 24000 Units

Estimated Costs :

Material % 4.00 per unit
Direct Labour % 0.60 per unit
Overhead % 24,000 per year
Administrative Expenses % 28,000 per year
Selling Cost of Sales % 1,590 per year

(1) Calculate the selling price if profit per unit is ¥ 1.02.

(ii)) Find out the break-even point in terms of output.

TH FH 3 Th 991 39E 991 & fou Tw 995 e §1 995 o fou anmdt 1 feer
= femn T ©

ST e foreht 24,000 sIEAT
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STAIG @rTa

1Dl % 4.00 9fa s&E
T o % 0.60 9fa s&Ts
IR AN % 24,000 ¥fq &
YA T % 28,000 gfa o
fast w fora @ra % 1,590 ufa &

(i) s vfa s @ 2 1.02 ® @ fosra g &1 oM FIfSQ
(i) SEA & T H @y-steny fag (BEP) &1 TUMT Hifeq |

5. Define Monopoly. How price and output is determined under monopoly in
short-run ? Explain with suitable diagrams.

THIIHR SR bl GRS SHIfST | Toh TR IS H STe9eshid | &hidd Td 3cied
freior foFg YR BT € ? SUgE J@MfeEl + Ao ¥ H9EET|

Section—-C
(@ue-—|)

6. Critically examine the Keynsian theory of liquidity preference.

I & W AREE faga F SRS e St |

7. The following are the sales figure of a firm :
Year 2009 2010 2011 2012 2013
Sales (In Thousand) 56 76 92 80 112

Use the method of least square to fit a straight line and estimate the sales for
2014.

TH ®H &) fawt & etee fr=fafen ©

EL 2009 2010 2011 2012 2013

foret (geR #) 56 76 92 80 112

T el Yen # fhe 39 & foau =Eew o &t fafu @ wEm wifee ei) 2014 & fog
TRt 1 TTHM Y |

8.  “Law of diminishing return is the only law of production. The law of increasing
return and the law of constant returns are only temporary phases.” Explain.

“gea fawe w1 Frem & Scred 1 TeE e €1 9gd 1@ fer gfawe & fram am
ST =R §1" IR
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